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5.1-1

mm/.

) )

4/21  4/30 5/1 5/25 | 5/26 6/30 | 7/1 7/25 | 7/26 8/10 | 8/11 8/31 | 9/1 9/15 | 9/16 9/25
W-1 140 21 21 20 22 21 17 17 17
W-2 155 22 22 21 23 22 18 18 18
W-3 165 24 24 23 25 24 20 20 20
W-4 170 29 29 28 30 29 25 25 25
W-5 180 32 32 30 34 32 28 28 28
W-6 195 33 33 32 35 33 29 29 29
W-7 210 34 34 33 36 34 30 30 30
W-8 230 35 35 34 37 35 32 32 32
W-9 240 39 39 37 41 39 36 36 36
W-10 245 41 41 39 43 41 38 38 38
W-11 250 46 46 41 48 46 43 43 43
W-2" 153 21 21 19 22 21 17 17 17
W-3" 165 25 24 23 25 24 20 20 20
W-4" 165 26 26 25 27 26 23 23 23
W-8" 225 32 32 31 34 32 30 30 30
S 199 23 23 26 30 32 31 29 25
M 199 21 21 25 28 30 29 26 22
L 199 17 17 20 25 28 27 25 21

5.1-2 ( )
(4/30) (ha)
(m*/sec)

1 2 0.494 38
2 5.821 896.2
3 16.912 2126
4 9.166 1768.1
5 0.621 121.9
6 5.863 1239._4
7 4 .395 976.2
8 2.812 638.2
9 0.633 81
10 0.585 71.9
11 1.5 182.9
12 9.874 1049.3
58.675 8254 .9

1 1 1142.2
2 1 0.577 101.2
1.577 1243 .4

1 0.364 74.9
2 3.614 666.4
3 5 898.1
4 2.186 587.6
11.163 2227

71.415 11725.3

5.1-3 1€ )
(m*/sec)

1/1 4/20 | 4/21 4/30 5/1 5/5 5/6 5/25 | 5/26 6/30 | 7/1 7/15
16.2 58.7 56.4 445 42 .7 46.9
3.6 11.2 9.7 7.8 7.5 8.2
0.4 1.6 1.4 1.4 1.7 1.4
20.1 71.4 67.4 53.7 51.9 56.5

7/16 7/25 | 7/26 8/10 | 8/11 8/15] 8/16 8/31| 9/1 9/15 |9/16 12/31
46.9 445 40.4 40.4 26.2 16.2
.2 .8 6.7 6.7 4.3 3.6
2.4 2.4 2.3 1.3 0.6 0.4
57.5 54.7 49.3 48.3 31.1 20.1

45



o ENS0ORK(EE)

-
[ #Fkess
EEEIIHI-HHE&MH
S A - KRR
%ﬁfnmu
—EiB
FEMAE
’,”_. 5
EN&ORk(EE)

o2k 2l

| [

=
=1

M e LS
EEIN - eI REEE 5
1= e SEEN y
-F#ﬂ

EHME=H
AAR=S =
b

Euss

s eane o naiflamy |
(L Rl IR A
mupN

FRE=F A Y

Z

3 WA K (EE)
# FHE N BAK
F Y l -1 0 § $04— ki
R 3t
{ \ | LY 2
5.1-4

46



5.1-4

ms/sec)

ID W-1| W-2 | W-3 | W-4| W-5] W-6| W-7 | W-8 | W-9 [W-10] W-11} W-2'| W-3' | W-4'| W-8'| L M S
4 00 03] 02 05 1%)
9 0.0 0.0 0%
11 11 18| 05| 05 03 03| 01} 00 46 68%
21 0.2 00| 02 16 0.1 21 31%
6.7 100%
73 92%
j ‘86 '95 6.8 101%

ID W-1| W-2 | W-3 | W-4| W-5] W-6| W-7 | W-8 | W-9 [W-10] W-11} W-2'| W-3' | W-4'| W-8'| L M S
5 0.1 0.2 39| 14| 13 69 20%
16 035| 0.04| 0.25] 1.50 3.43] 0.01| 0.09 57 16%
17 029] 033 0.18] 1.69 25 %
18 013 0.1 0%
26 0.17) 3.31] 097 1.37] 58 17%
27 006| 0.71] 0.07] 0.53] 0.04] 3.21 2.59 3.90 111 32%
30 0.32] 0.30] 0.22 0.05/ 0.61] 15 4%
32 0.11] 0.04| 0.28] 0.32] 021 0.18| 0.12] 13 4%
349 100%
41.7 84%
j ‘86 '95 220 63%

12
[y
' — '86 95
. - - -
10 B
8
2
<L
>
£
6
4
2
0 R = L
4/1 5/1 6/1 7/1 8/1 9/1
70 T T
— 86 95
60 =
F—— —%—
" [ommy —_—
' '
' '
50 T =
. '
s ' Im‘ Vt——
: :
> 40 T
£ 1
1
I
30 : = \
R n
Y ?ﬂﬂ ﬁ 1
1|
20 X Mﬁ[ﬂ% |NJE aﬁ o l_
L w 1
. "J_- m(_,
™ "
m\_ ":‘ ''''' MMWW#WMMN*MWW:: PR BERRSA dc
() e e S eEe RS LA I AAMADITIAAAALTAAMAAAAMAMAAAAAAAAAAA A AALAA SIS —ains T

4/1

o
~
rs)

o o
N ~
< ~

5.1-6

o o
~ ~
53] o

47



5.1-5

300 gy 100 1998 1999 2000 2001 2002
290 . ='\.\. w ———o mm mm/day mm mm/day mm mm/day mm mm/day mm mm/day
280 .. . -, 90
-~ g g MRS S 1519.1 96| 15100 96| 1,500.4 95 14902 9.4 14800 9.4
270 ——3
260 80 576.9 37 5735 3.6 569.9 36 566.0 3.6 562.1 36
N
, ‘l\.\.>.<.~
£ zig ‘.\l\. 70 2,702.6 17.1] 2,686.3 17.0] 2,669.4 169] 26512 16.8] 2,633.1 16.7
230 1,147.0 73] 11401 72| 11329 72| 11252 71 11175 7.1
220 60
210 2,537.3 16.1] 25221 16.0] 2,506.2 159 2,489.1 15.8] 2472.1 15.6
200 50 670.4 4.2 666.4 4.2 662.2 42 657.7 4.2 653.2 41
S5(S5(S5(S5(S5(S5(S5(S5|S5(S5(56(|56|S6|S6 H1|H1|H1|HL|HL
ol1l2]3]als5|6|7|8|9olol1]2]|a|H|H2|H3HAHSIHEIHTIHE IH ol 95 13|y

—B—km2 | 29| 28| 28| 28| 28| 28| 28| 28| 27| 27| 27| 27| 27| 27| 27| 26| 26| 26| 26| 25| 25| 25| 25| 25| 24| 24| 24| 24 B 3773 24 3751 24 8727 24 370.2 2.3 367.6 23

2,405.5 1521 23911 151} 2,376.0 150] 23598 14.9] 23437 148

206.2 13 205.0 13 203.7 13 2023 13 200.9 13

15 1,355.1 8.6 13469 85 13384 85| 13293 8.4 1320.2 8.4

13 14 2,160.1 13.7] 21472 13.6] 2133.6 135 21191 13.4] 2,104.6 133

5.1-7 19930 126 19810 125 19685 125 19551  124] 19418 123

1,862.7 118 18515 11.7] 18398 116] 18273 11.6] 181438 115

1,627.3 10.3| 16176 10.2 1,607.3 102] 1596.4 10.1] 15855 100

1,719.0 109 1,708.7 10.8] 1,697.9 10.7] 1,686.4 10.7] 16748 106

464.5 2.9 4617 2.9 458.8 29 455.7 2.9 4525 29

1,268.5 8.0( 12609 8.0 12529 79| 12444 791 12359 78

2,544.9 16.1| 25296 16.0} 25137 159] 2,496.6 15.8] 24795 15.7

2,333.6 14.8| 23196 147} 2,305.0 146] 22893 145 2273.6 144

17419 110 17315 11.0} 1,720.6 109] 1,708.9 10.8) 1,697.1 107

1,754.3 11.1] 1,7438 11.0] 17328 110 17210 109 1,709.2 108

1,883.0 119 18717 11.8] 1,859.9 118] 18472 11.7] 1,834.6 116

1,586.2 10.0 15766 10.0} 1,566.7 99| 15560 9.8 15454 9.8




5.1.2

5.1-6
5.1-6
m®/
278,163| 147,771 35,700 730] 215,231 677,595
21,258 31,901] 12,672 0] 49,613 115,444
58,296 70,265] 20,700 1,140] 131,939 282,340
19,118 1,022 0 0 1,521 21,660
5,313] 11,448 0 0] 29,283 46,044
5,876 7,027] 12,096 0] 34,293 59,292
720 1,248 0 0] 10,620 12,588
15,872 4,953 3,312 0 9,606 33,743
0 0 0 0 0 0
2,290 0 0 0 0 2,290
0] 14,446 0 0 160 14,606
0 0 0 0 0 0
1,600] 33,900 0 0 168 35,668
884 1,903 0 0 3,272 6,059
19,259] 25,118 1,450 0] 52,835 98,662
428,649] 351,002 85,930 1,870] 538,541] 1,405,991
5.1-7
m®/
44,759 34,205 2,184 419 6,208 87,775
1,937 4,025 1,296 351 995 8,603
13,071 5,726 2,605 329 4,058 25,789
12,923 2,496 540 2,468 4,389 22,816
674 836 0 0 789 2,299
2,285 1,562 770 4,967 340 9,923
33 58 0 0 230 321
6,507 929 44 55 918 8,452
1,315 277 137 0 307 2,036
1,132 323 0 0 145 1,600
5,726 1,140 0 0 400 7,266
241 38 0 0 96 375
31,781 2,389 1,164 679 2,373 38,386
2,441 515 38 134 1,074 4,203
4,195 4,819 1,866 0 1,260 12,140
129,019] 59,337] 10,644 9,403] 23,581 231,984
«c 1 )
10

5.1-7

5.1-8
0.161 0.231 0.061 0.574 0.029 0.130
0.091 0.126 0.102 1.000 0.020 0.075
0.224] 0.081 0.126 0.288 0.031 0.091
0.676 2.442 1.000 1.000 2.887 1.053
0.127 0.073 1.000 1.000 0.027 0.050
0.389 0.222 0.064 1.000 0.010 0.167
0.046 0.046 1.000 1.000 0.022 0.025
0.410 0.188 0.013 1.000 0.096 0.250
1.000 1.000 1.000 1.000 1.000 1.000
0.494 1.000 1.000 1.000 1.000 0.699
1.000 0.079 1.000 1.000 2.500 0.497
1.000 1.000 1.000 1.000 1.000 1.000
19.863 0.070 1.000 1.000f 14.123 1.076
2.761 0.271 1.000 1.000 0.328 0.694
0.218 0.192 1.287 1.000 0.024 0.123
0.301 0.169 0.124 5.028 0.044 0.165
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